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3 

4A $,2,34, B: $2,4i544ind A-b, B-A 

and AAB 

Solution 
Given 

As ^i,2,32 

A -B= �Li2,34- f3,4sy 

Also, 
A AB= CA-B)UCa-A) 

A and B are two disioint sots and nCAUB) =4 
nCA) = 435nd nce) 

Solution. 
Given, 
nCAUb) : 45 

nCA= 435 
nCAOB)= 0 Lsince A and G ore two dsioint sets 

WO KnOw, 

Date 
Page 

nCAU) = NCAt ncB) - n(ANA) 4t5- 435 + ncB) - o 

nce) = 40 



UE$is 

od BUC, ANG A-C and AuB 

Solution 
Given, 

a natwral number up to 203. 

AeftSTST6t Ae fGa,3.9,10,-202 

C-fU,J2,13,144 
Now 
BUC: 2,3,4.ssitauIA243,44 

Date 
Page 

AnG= $G,A8,9710, -. 202 0 §213.4.SkaRY 

A-C= Gt.8.91O, ---20y-$2, 13.344 

ES8,9, 10, 15ls14 19, 20 

AUS U- (AUB) 

-l23,4Sc ,204 -I2,3,4S G,284 



5. u=§2inis a tve integer les than 124 
A:$3.5,3,94.,6=$ii213,8.94 find AUS and 

A -B) n B. 

Solution 
Given, 

6E2s894 

AUB = $3.s,4.94 ufl2,3,R,94 

AUB U-(AuB) 

Also, 
rG0,J14 

Date 
Page 

A-G:f31si4,94- $12,3,R,94 



7 

Homemork 

was 

the 

Io a recent suney o 400 stdents in a school it 
AWAs tound out that 100 students reod macgzine A 
and 150_ road mqgazine B, 75 students read both 

Solution 

nCA Joo 
ncB) !50 
nCA0B)=75 

let the ste set c students ired to read magazine 

A be A, magaine B be B ard both be ADB 

Then, the above intormation an be oitten as 

noCA) 

Data 

Date2oeolos|26 

Shouing the above intormaion in a venn-diqram as 

Q5+ 45t15 

15 

Page 

25575S 

Numbar ot sudont uho lite te rd eiher magazne. 

no (A) + nocB) t nCANB) 

I5 students Yead either magazine 

maqazines. Hnd how many read erher ragazine. 



8 In a statichoal inveshgation ot 500 (anniles in a 
certain town,it wac tound that L0 tami lies had 
nether oa radio nor à 1v, and 320 tamílies had 
a radio and 190_ a Tv 
) How many tamilies in that 

TV? 

b How many tpmiies in that group had radío bot 
not Tv ? 

e) How nany tamiliec in hat qroup had Tv but not adio Oilb 
d) How mans tarnies in that qroup had at least one type o medat nedia? 

@) 

Date 
Page 

goup had both radio and 

How many tamiler in that gDup had exacty On0 type ot media? 

Soluion 
let the ot tt tami lies who had radio be R, tv be T and poth be, TAR ROT 

nR= 220 

Then. he ahove intormation an be. oritten as 

nc)90 

nCR0= 2lot) 

Shousing the above intormalion in venn diagram. 



noR 

No 

R 

nCROT)=50 

nCROT) 

nc) nocR)t a(T)tnCRO)+nRUT) 

Or, 500= 320- t L90-Lt 40nt O 

Or, 50D 550 

190 

bo kailíes had both radio and TV. 

Date 

Page 

b) Nomber at amiliea that hd radio but not TV = NoCR) 

9T0 t 0 + 50 

A60 

-nolT) 

) Number ot tamlies that had TV but not roolío = noCU 

320 -

-820 -SD 

d) Nomber of (amilies that had t leat one ype of 
medic nocR) tnoCT) tnRA) 

Nomber ot tarrilie, that hod exactg Lane tpe of meia 

-abu 



9 In a caCS Ot J00 students, 50. study mahemol 

40 Studs markeling cnd 25 stuels batth. Eind o 

a) How many students study at least one sobieck9 

b) Hou) many. sturlents study mathemahcs onlu? 

) Hos many studentk study maKeing only? 

nor marketing 
e Houo mans stucents study exacty one sobjeg ? 

Solukon 
Let the sot a sudents who stucs malhemalics be 

Mi. markehing be. M2 ard both be Mi0M2. 
Then, the above intomahon can be lAriten as 

ncu) 00 
ncMi) 50 

nCMin M2)=25 

no(M) 

bo 

Shonicg the ahove. inormation în a lenn-diagrom 
MI 

Date 
Page 

25 

nMAM) 

NaCM2) 

nCMIUM2) 

d) ttow many student studs neither mathernati 



NOw 

Now 

ncu) = not M) t nolM2)t n(MI Me)t n(MIUM2) 

65t 

noc)+ncM2) t ncMInM2) 

a) Number of sBudents who stucs at least one sobject 
AtAU nMiUM2) 

b) Nomber ot stuolents ho shuals mot 

=n(Me) - n(M nu2) 

Date 

40-25 

Page 

) umber at Siudente hoho ctool mauketng ony 

25t15 

35 

shuady mothemaica only 

d) Nornker o students oho stoå noither mathomatc nor 
markekng = neNy UM) 

e) Nomber o students oho studs, exact one sobject 



have tken MIS as a 
Lclass consicung a 60 Sudonts 26 chdenh 

major1H have tak 
MIS bot not oporations and 22 have nether aKon 

as a major. fad the nOmber 

O 

NIS nor operaionc 
studonts who have taken 

G MIS and aperations 
Cporaions but not MIS 

) At loast one as myor: 
Cin Exactå_ one.as majo 

Solbhon 
Let the set c students nho have taken MIS as 

Oporahons te o and balh be major be M 
MNo. 

Then, the above ingprmation an be itten as 

ncu)= 60 
nCM)= 25 

Let ncMo) z 
Let noco)A 

Shoxoing the above ingormalion in venn 
M 

n(MAO) 

Date 
Page 

diagtam 

nco) 

22 <n CMUO) 

nor 



Now 

Ne Also, 

i Nombor c studonts ho have taken both MIS. 
and ogeraions nCMno) 

Et Nomber ot stdents oho have taken 

ncu) = nolM) t Nolo) t n CMN0) t n CMUo) 

13 

Date 

Paqe 

Cpsrcthon 

1) 1Oomber ¢ shudents ho have taken operahons bot 
not MIS Nol0) 

i) Nomber of shdents 
major e DolMta (0) 

I1) Nomber ok stucdents oho have taken_ at least one 

who have taken exact one 



In a BIM pngram o Shanker boy CampUS, 
there ane 40 Studonts io 
Student in mathematics 
number a students it these 
) un at the Same tme 

Sduton 

b) ron at the d'itgprent time it 20 students aro 
enrdled in both the courseS. 

het the Shdent set ot sudonts nno reod 
mothomathcs he M Eoglich be, E cnd both be 

MOE. 

At n(M) o 

Thon, the above, intomation can he oritten ar'. 

nCE) 40 

Englsh and t0 
class. Hd the total 
tuwD classes 

ncME) 20 

Date 
Page 

a) T the clacses nn at the same, imo 

to 

Nunbor of studonts = nCMUE) 

40 



b) 4 the claaes YUn at ditkeront ne 

’50 

NUmbor at studonts = n(MUE) 

b) Tokla tea only 

20 

a) Soxtim tea only 

Ih a maKet suat a JoD onuMers a tea t was 
tpund that 5o0 purchased Eak tim tea, 0 purchaaed 
Tokla tea and L50 purchased both the brands. How 
mang purchased 

Solufhon 

206 

- 50t20 t 20 

c) At leaot one type ot toa 
d) Noither ot them 

SnT. 

nL) =00 

Date 

Page 

,LE) 

Lot the soì of conaumers who porchaued Saktim. 
tea be 9,etnd Tokla tea be T cnd both b0 

hen, th0 ahove ntp rmatioo con ko n tHen as 

Aet etfttUbo et nsuT ) be M. 



Shouigg the ing1malion in venn-dicgram 

Now 

7350 J50 

nsn)Mio 

= ns) - nsaT) 

1 350 

250 < 

a) Nombr at consumors who porchased sokim ted 

Date 
Page 

=nT)- nlsaT) 

n1) 

b) Number o consomers who porchaDed Tokla tee 

c) Wmber o consomorc ho purchase at leoat tpe o teo = neSOT) 

d) Nomher o consomors who purchaoc nother ok therm ncsu 



13 l6 students play Basketball, 20 stuclentt play 
7ootoall and Jo pl�s both. fird -the number of students 
hat likad to ploy 

Basketball onl 
b) foetal only 
) Exacty_ono tupeo games 

d) At leaot one type of game 

Soluion 
let the set ok students who play easkotbal be B 
Football be. F crd both be BAE 

Thon, he above întonation an be oritten a 

nE) 3 20 

Shoaxing the intp1nmation n venn- diagrnm. 

No 

Data 

Page 

n(6AF) 

10 

a) Nmmber o ctudents who het liked to play 
basketbal on = No(3) 

n(B)- ncBAF) 



b) Nombor O stdents that liked to play tpotoall 
only not) 

120-JO 

c) Numbor ot Students that liked oxaty one 
type ot gamer = Do Ce) + OacE) 

d) Nomber ot sudont that liked at legst 

6t10 

In a cuMOy of markd, A uaS tound thot 
Bigrtor tocthpaste, s2 URe 

o) Colgote toothpaste only 

Colgate toathpaste ag to use bath tpe o toothpaste. fnd the number ok tumilier Ano Use o) Brianter toothaste onl 

Date)tno) tn(BAE) 

C) Exacty_ one brand o tocthpaste 

Soluhoo 

d) At lut ono brard o toothp aste 

Dote 
Page 

let the ge o7 tamillec sing bigtor tooiaste be Bi olgate toclnpaste he � and both be 

nB)z 900 

Then the above. intoxmalion Can he witen as 



nc)142 

Showoing the intormahon in venn- diaqram 

noB) 

Nouo, 

930 

only 
a) Nombcr ot tamilhes oh 

230 

0 

= n)- nenc) 

b) Nombor of tamilies o uSe Colaate toothpaste 

23072 

Data 

Page 

c) bormbor ot kamilios who Use exactty one brand 
of tocthpcute noce) tnocc) 

= 302 

J Nomber of (amalies 
t tocthpa te 

bightor tothpaste 

who o atleoat one brand 

930+72 4 70 
342 
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